EXPONENTIAL + LOGARITHMIC  

$$y = b^{x}$$
  
 $b > 0, b \neq 1$   
Domain:  $(0,1)U(1,\infty)$   $\begin{cases} x = \log_{b}y \\ \ln e^{18} = \log_{c}e^{18} = 18 \end{cases}$   
 $e^{32\pi 5} = e^{3\pi 5} = 125$   
 $\log_{9} \frac{1}{81} = \log_{9} \frac{1}{9^{2}}$   $\log_{3} \sqrt{27} = \log_{3} \frac{8}{3^{3}}$   
 $= \log_{9} q^{-2}$   $= \log_{3} \frac{3}{3^{5}}$   
 $= \log_{9} q^{-2}$   $= \log_{3} \frac{3}{3^{5}}$   
 $= 2$ 

Properties

$$\ln a + \ln b = \ln (ab)$$
 $\ln a - \ln b = \ln \left(\frac{a}{b}\right)$ 
 $\ln a^{2} = 9 \cdot \ln a$ 

$$\int_{\Omega} (x+1) + \int_{\Omega} (x-3) = 2 \ln x$$

$$\int_{\Omega} (x^2-2x-3) = \int_{\Omega} x^2$$

$$\int_{-3}^{2} = 2x$$

$$-3 = 2x$$
No solution

$$\frac{2(x-4)}{(2x-5)(3x-2)} = \frac{A}{2x-5} + \frac{B}{3x-2}$$

$$(2x-5)(3x-2)$$

$$(2x-5)(3x-2) = \frac{A}{2x-5} + \frac{B}{3x-2}$$

$$2(x-5)(3x-2) = \frac{A}{2x-5} + \frac{B}{3x-2}$$

$$2(x-4) = A(3x-2) + B(2x-5)$$

$$2(x-5)(3x-2) = A(3x-2) + B(3x-2)$$

$$2(x-5)(3x-2) = A(3x-2) + A(3x-2)$$

$$2(x-5)(3x-2) = A(3x-2)$$

$$2(x-5)(3x-2)$$

$$2(x-5)(3x-2) = A(3x-2)$$

$$2(x-5)(3x-2)$$

$$2(x-5)(3x-2$$

$$\frac{1}{(3x^{2}+7)(2x-5)} = \frac{A \times +B}{3x^{2}+7} + \frac{C}{2x-5}$$

$$\frac{1}{(x^{3}+7)(2x-5)} = \frac{A}{(x^{2}+7)^{2}} + \frac{B}{(x^{2}+7)^{2}} + \frac{C}{x^{3}} + \frac{D}{x^{2}} + \frac{E}{(x^{2}+7)^{2}}$$